

$$2 + 5 + 0,68 + 36 = 43,68$$

$$0,6 \times 0,03 = 0,018$$

$$36,746 - 0,29 = 36,456$$

$$14,16 : 2 = 7,08$$

$$\begin{array}{r} 1 \\ 2 \\ 5 \\ 0,68 \\ \hline 36 \\ \hline 43,68 \end{array} +$$

$$\begin{array}{r} 0,6 \\ 0,03 \\ \hline 0,018 \end{array} \times$$

$$\begin{array}{r} 6 \\ 36,746 \\ 0,29 \\ \hline 36,456 \end{array} -$$

$$\begin{array}{r} 2 \overline{) 14,16} \\ \underline{14} \\ 0 \\ \underline{0} \\ 0 \\ \underline{0} \\ 0 \end{array} \quad \begin{array}{r} 16 \\ \\ \\ \\ \\ \\ \end{array} \quad \begin{array}{r} 7,08 \end{array}$$

